LINDBROOK

2 ALLEN BOLT ®1/4" x 20 x 1-1/2"

8 PC

3 T-NUT MOUNTING WASHER ®1/4"x 18 x 10mm

8 PC

4 FLAT WASHER ®1/4"x19mm

8 PCS

5 LOCK WASHER ®1/4"

8 PC

REPLACEMENT REQUEST

VERSIONS 1 - April 23,2025

DO NOT USE SUBSTITUTE PARTS.
PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM WITH SERVICE OR PARTS

This product is manufactured by BFGP for ROOMSTO G® | KIDS

MIRROR
//
//
//
RTG SKU# | STYLE# COLOR ITEM DESCRIPTION QTY
34003385 | 338Y-140 SAND MIRROR 1PC
MIRROR- PART LIST DRESSER - PART LIST
NO. ITEM DESCRIPTION IMAGE QTY NO. ITEM DESCRIPTION IMAGE QTY
A DRESSER .
B MIRROR 1PC (Sold separately)
MIRROR - HARDWARE LIST
NO. ITEM DESCRIPTION IMAGE QTY
MIRROR
C 2PCS
BRACKETS 1 Allen key 4mm — 1PC
MIRROR - PRE-ASSEMBLED HARDWARE LIST
NO. ITEM DESCRIPTION IMAGE QTY

PAGE 1 OF 2




LINDBROOK

MIRROR

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts which may
have come loose inside the carton during shipment. Identify and count all parts and compare with the parts list below.
Read all instructions before assembling and keep these instructions for future reference.

[ Hardware pack location j

RTG SKU#

STYLE#

COLOR

ITEM DESCRIPTION

34003385

338Y-140

SAND

MIRROR

HARDWARE PACK

MIRROR

HARDWARE PACK LOCATION

Assembly Instructions:

STEP 1

>

® 7
-
/
)
/
It
/
/
/
1
i R
]
I
(1= '
|
n / h ‘
S 1
[ |
|
\ 1
/
\ |
|~ \ /
\ N /
\ ~ /
\ /
\ /
\ /
\
N y

Place the Mirror (B) on the top of Dresser (A) and align the center line of mirrror and
dresser as shown. Assemble the wooden Mirror Brackets (C) to the dresser by using

Allen key (1).

NOTE: The bolts
were pre-installed
on mirror brackets

\
\
\
\
\
\
\
\
\
\
\
\
i
\
\ |
\ |
\ |
N !
NI
N /
\
\
\\ ”
/ !
/ |
/ /
/ /
/
/
/

COMPLETED

WALL

RIRRR

/

~

NN

:

This product is manufactured by BFGP for ROOMS TO G®

VERSIONS 1 - April 23,2025

DO NOT USE SUBSTITUTE PARTS.
PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM WITH SERVICE OR PARTS
REPLACEMENT REQUEST

KIDS

PAGE 2 OF 2




